1 вариант
  Грецкие орехи
 Фундук                                                                          3 кг. 600 гр.
  Миндаль
  3кг. 600 гр =3600гр
  4+3+2= 9 частей
1) 3600:9= 400(гр.)  - 1 часть
2) 4*400=1600(гр.)  - грецкие орехи
3) 3*400= 1200(гр.) – фундук
4) 2*400= 800(гр.)  - миндаль
Ответ: 1 кг.600гр- грецкий орех
            1кг. 200гр- фундук
            800гр. – миндаль

2 вариант
 Капуста
  Яйцо                                                                               2 кг. 500 гр.
   Лук
  2кг. 500 гр =2500гр
  6+3+1= 10 частей
1) 2500:10= 250(гр.)  - 1 часть
2) 6*250=1500(гр.)  - капуста
3) 3*250= 750(гр.) – яйцо
4) 1*250= 250(гр.)  - лук
Ответ: 1 кг.500гр- капуста
             750гр- яйцо       
             250гр. - лук

4 вариант
   Яблоки
  Мандарины                                                             6 кг. 600 гр.
   Киви
   Виноград
  6кг. 600 гр =6600гр                 3+2+1+5= 11 частей
1) 6600:11= 600(гр.)  - 1 часть
2) 3*600=1800(гр.)  - яблоки
3) 2*600= 1200(гр.) – мандарины
4) 1*600= 600(гр.)  - киви
5) 5*600= 3000(гр.)  - виноград
Ответ: 1 кг.800гр- яблоки
            1кг. 200гр- мандарины
            600гр. – киви
             3 (кг.)  - виноград 
3 вариант
   Клубника
   Сахар                                                                            4 кг. 800 гр.
    Вода
  4кг. 800 гр =4800гр
  7+3+2= 12 частей
1) 4800:12= 400(гр.)  - 1 часть
2) 7*400=2800(гр.)  - клубника
3) 3*400= 1200(гр.) – сахар
4) 2*400= 800(гр.)  - вода
Ответ: 2 кг.800гр- клубника
            1кг. 200гр- сахар
            800гр. - вода
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